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1. Being “in the black™ in western culture means that the company is _____ a profit.

(A) doing (B) losing (C) making (D) taking
2. sleeping is important to people’s health, too much sleep can make one tired.

(A) But (B) When (C) As (D) While
3. There are many charity organizations in the world to help people _____

(A) in need (B) with need (C) of need (D) on need
4 ThereismoretoMary __ theeye. Mary seems to be shy, but she is very outgoing.

(A) than meets (B) to meet (C) for meeting (D) with meeting
5. Ana Dodson 1s only a teenager, and she’s already been devoting _ to _____ poor children in her country.

(A) herself; help (B) herself; helping (C) her; help (D) her; helping
6. The company were given to employees to make the rules more clear.

(A) guidelines (B) currencies l (C) workshop (D) significance
7.Mr. Smithisa ______ member of society, so he is well-known by many.

(A) temporary (B) prominent (C) severe (D) visual
8. Does your ______ cover damage by natural disasters?

(A) conferences (B) treatment (C) identifications (D) insurance
9.David _____ the dog, for it doesn’t look hungry at all.

{A) 1s going to feed (B) should feed (C) must have fed (D) can have fed
10. __ excellence is a big factor for a student to get into a top university.

(A) Durable (B) Academic (C) Critical (D) Adequate
11. Carrie came up with a(n) ____ idea that we all agreed with.

(A) brilliant (B) artificial (C) conscious (D) organic
12. 1 think that Daniel isn’t ____ of the fact that he is rude sometimes.

(A) charming (B) conscious (C) enjoyable (D) impractical
13, California earned the “The Sunshine State” because it’s sunny there most of the time.

(A) diet (B) calorie (C) escape (D) nickname
14. 1 liked this purse because it had a(n) ____ button to keep it shut.

(A) urban (B) magnetic (C) organic - (D) swift
15. You can feel the ____ in the air when it’s about to rain.

(A) household (B) stem (C) moisture (D) accuracy
16. Your hard work certainly ____ to the success of the new product.

(A) illustrated (B) contributed (C) starved (D) registered
17. Seeing the _____ of the poor people, the rich man decided to give his money to help.

(A) survey (B) misery (C)arrival (D) harvest
18. David is astrong ____ player. He stops the other team from getting points in a game.

(A) defensive (B) urban (C) organic (D) discriminatory
19. Many foreign ____ are moving their factories to China because costs are lower there.

(A) champions (B) necessities {C)routines (D) manufacturers
20. Peter’s job at the restaurant requires him to wash dirty dishes. __, he must chop vegetables.

(A) Additionally (B) Hopefully {C)Roughly (D) Extremely
21. All we haveto do is good care of ourselves so that our parents won’t have to worry about us.

(A) to have taken (B) taking (C) take (D) taken
22. The way people greet each other varies from to

(A) one culture ; one culture (B) one culture; the other

(D) culture; culture
1

(C) the culture; the culture



IL Fill-in-the-Blank BAFENEZE (20% @2%)

(A) occasions (B) adopt (C) opposite (D) astronomical (E) glaciers
(AB) credited (AC) recognized (AD) ceremony (AE) disaster (BC) colonial
23. The Chinese are with creating the first fireworks.

24. My parents have

opinions when it comes to education. They often argue about how to educate children.

25. Due to global warming, many of the world’s are melting.

26. I will be dressed up on special _____ such as graduations.
27. The factory finally decidedto ____ the new plan to reduce pollution,
28. This credit card is all over the world.
29. John learned a lot about the stars during his __ observations.
30. The Philippines was first under the _____ rule of Spain and later of America.
31. Heavy rain brought __ to the farm animals. Some were missing, and some were drowned.
32. The movie star’s wedding ___ was held on a beach in Hawaii.
III. Passage Completion NEBE (20% @1%) FrERE—R/IR)
(A) for future career (B) others (C) in fact (D) in addition
(E) the needy (AB) run errands (AC) associations (AD) making a difference
(AE) genders (BC) and still others
(1)  Volunteers are caring and selfless people. They offer a variety of servicesto __ 33 . Some help victims of natural disasters.
People even raised money to help victims reconstruct their houses. 34 take care of stray animals. Some of volunteers try to
put stray animals’ pictures on the Internet to find sweet homes for them. _35 help the elderly. They help the elder people
36 . InTaiwan, there are some well-known volunteer organizations. These __ 37  have millions of members who come
from different ages, _ 38 , and occupations. 39 , volunteering offers many benefits. First of all, it offers valuable job
experience and skills _ 40 . 41 , people can learn more about their personality and what kind of the job they like to do.

Best of all, since you are helping people and __42 to other people’s lives, volunteer work brings you a deep sense of happiness.

(A) what (B) arm in arm (C) under arrest (D) wanted (E) of
(AB) in (AC) colleague (AD) that (AE) had been standing (BC) with

(2) A mannamed Bob on the corner caught a police officer’s eye, for Bob __43 there for fifteen minutes. The officer
walked up to Bob. Bob, who was from the West, said he was waiting for a friend __44 whom he had made an appointment to
meet there twenty years ago.

“ 45 a true friend you are!” said admiringly the officer. They chatted for a while, then, the officer left. Before long, a tall
man __46 a long overcoat and a hat walked to the man and asked if he was Bob. They exchanged a few words and walked _ 47
to a drugstore. It was at the time __48 Bob discovered the tall man wasn’t his friend. The tall man turned out to be a police
officer. The officer put his arm on Bob’s shoulder and said “You are _49 ! The Chicago police informed us __50 your
coming.” Before going to the station, the tall man gave Bob a note from Jimmy written: he was Jimmy and he was there on time.
1t’s regretful that Bob was the man __51 for robbery. However, because of friendship, Jimmy got his _ 52 to catch him.

IV. Cloze TRFE (20% @1%)

(1)  Chen Wei-yin is a Taiwanese baseball star from Kaohsiung. His __33 pitching was noticed by Japanese and American
scouts while he played for Kaoyuan Vocational High School. When he was 18 years old, he went to Japan to __54 his skills. In
2012, Chen was signed by the Baltimore Orioles of Major League Baseball (MLB) in the U.S. He is the eighth Taiwanese baseball
player to be signed by an MLB team. His __55 game was against the New York Yankees in April 2012. In his first year in the
MLB, Chen __56 154 batters. His team made it to the playoffs. Chen has a(n) __57 fastball and an accurate curveball. His
playing thrills baseball fans in Taiwan and the U.S.

53.(A) colonial (B) remarkable (C) industrial (D) cultural
. 54.(A) esteem (B) conduct (C) polish (D) convince
55. (A) debut (B) final (C) fatal 4 (D) winning
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56. (A) hung out (B) knocked out (C) struck out (D) stuck out
57. (A) killer (B) innocent (C) native (D) secure

2 The Taj Mahal is one of the world’s most famous monument, which is so beautiful that you can’t _ 58 it.  The moment
you enter the gateway, a marble watercourse __ 59 . It stands seventy-six meters high, _ 60 in milky white sunlight. Its
reflection lies glassy in the water. Behind the grand building is a touching story, which will take the visitors back to three hundred
years ago. Emperor Jahan and Mumtaz Mahal—his wife used to be inseparable companions. But sadly, while _ 61 their
fourteen child, Mumtaz Jahal died suddenly. The emperor cried out __62 sorrow and hid himself from the public for one year.
Later, Emperor Jahan ordered the construction of the most magnificent monument in memory of his wife.

58. (A) take your eyes from (B) take your eye from (C) take your eyes off (D) take eye off

59. (A) come into sight (B) comes into sight (C) come into the sight (D) comes into the sight
60. (A) bathing (B) bathed (C) bath (D) to bath

61. (A) giving birth to (B) giving birth for (C) giving birth with (D) giving birth of

62. (A) by (B) on (C) with (D) in

N

3) The normal process to turn cotton into linen negatively impacts the environment. It can require 20,000 liters

of water to produce one kilogram of cotton. Chemicals used to protect crops from insects __63 poliution and health problems.
Eco-friendly clothing may help solve the issues. One idea is to use banana __64 to make usable fiber. The material is soft,
making it ideal for jackets, shirts, and pants. What’s more, its production __65 _ almost no carbon footprint. To fight _ 66
leather production, one company is developing a material called Pifiatex, which uses pineapple leaves. It looks and feels just like real
leather. Although not yet available, Pifiatex is 67 about 40 percent cheaper than its counterparts. What’s even better is the
organic waste leftover from manufacturing can be used as fertilizer to grow new pineapples.

63. (A) cause (B) that cause (C) causing (D) not to cause
64. (A) awards (B) necessities (C) stems (D) champions
65. (A) is prevented from  (B) leaves behind (C) is tricked into (D) has its fill of
66. (A) primary (B) defensive (C) harmful (D) impressive
67. (A) inreturn for (B) no exception for (C) compared with (D) expected to be

(4) Most Canadians are naturalism. Take my friend for example. He loves the wilderness. His favorite thing in the summertime is to
go to his cottage on the lake. He can rest, swim, hike and fish to his heart’s __68 . His little place is a nice __69 from city
life. It used to be a hunting lodge, but he has __70 and decorated it. He lives in peaceful _ 71 with the local wildlife.

Every morning he wakes up early and then goes for a walk outdoors. At the end of the day, he can watch the sun as it sinks slowly
below the __ 72

68. (A) conservation (B) consistency (C) content (D) constancy
69. (A) retreat (B) fantasy (C) withdrawal (D) narration
70. (A) disturbed (B) declared {C) neglected " (D) furnished
71. (A) motivation (B) coexistence (C) ecology (D) circulation
72. (A) description (B) horizon (C) inadequacy (D) segment

V. Discourse Structure EEERE (5% @1%)

Every culture associates certain meanings with colors. 73 . Take the color red for example; Western people and
Chinese people see the color in different ways in terms of their meanings. 74 . Therefore, this color is often seen in
weddings, New year’s celebrations. 75 . Redis connected with anger and embarrassment. 76 . Colors express

more about our culture than we might imagine.
77 . Youmay find special meanings in them.
(A) In fact, the color red typically has negative meanings in western culture.
(B) However, in some cases, even the same color may have different meanings in different cultures
(C) Next time you are at some kind of event, pay attention to the colors around you.
(D) It is seen in the expression “red in the face.”
_(E) In Chinese culture, the color red is thought to stand for good fortune and happiness.
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VI. Reading Comprehension BERRER (13%)
M (5% @1%)

Maintaining a healthy diet can be challenging, especially when supposedly “healthy” foods aren’t as good as we think. For
example, healthy though salad looks, it can be unhealthy when served with dressings full of sugar and sodium. Salads with large
amounts of cheese, bacon, or fried éhicken are just as unhealthy as many other dishes. Sandwiches can be tricky, too. Often, they
include high-calorie sauces and sodium-packed meat. Besides, some so-called whole wheat breads are made with processed flour,
containing little nutrition. Fruit juice, while packed with vitamins and minerals, is commonly high in calories and sugar. If you really
want a juice, choose a type with reduced sugar. and high pulp content. Finally, diet sodas that are low calorie and low sugar actually
contain artificial sweeteners, which can increase your appetite. (5-p. 14-17)

78. What is the passage mainly about?

(A) Incredibly healthy foods. (B) Delicious and healthy foods.

(C) Unheaithy healthy foods. (D) Natural and processed foods.
79. What is NOT mentioned as a cause for food being unhealthy?

(A) Calories. (B) Sodium. (C) Sugar. (D) Artificial colors.
80. Why are sandwiches sometimes bad for you?

(A) They force you to eat more. (B) The bread is not healthy.

(C) There is often a lot of sugar in them. (D) They contain too much butter.

81. What is the problem with fruit juice?

(A) It is high in sugar.  (B) It is actually not fresh.  (C) It is low in vitamins.(D)It is often too expensive.
82. Why isn’t it a good idea to drink diet sodas?

(A) They contain a lot of real sugar. L (B) You may want to eat more.

(C) They have high calorie content. (D) You may lose your appetite.

) (8% @2%)

We live in a world filled with all the colors of the rainbow. However, some people are denied the pleasure of seeing them
because they are totally color-blind. With regular color blindness, people are unable to tell certain colors apart, but totally
color-blind people can see only shades of black, white, and gray.

This condition is relatively rare, affecting around one in every 40,000 people. Those who are affected tend to be extremely
sensitive to bright light, so they usually wear sunglasses whenever they go outside. Their everyday lives are also made difficult
by their generally poor vision, especially when it comes to cooking because they can not tell whether the meat is cooked or not.

Being totally color-blind is not all doom and gloom, however. For a start, sufferers have superior night vision, as they are
more used to dim light from wearing sunglasses so often. Also, totally color-blind people are likely to have a good memory. This
is because, unable to rely on their eyes, they have a greater need to remember things when taught for the first time. In addition, ~
to compensate for their inferior vision, their other senses, like hearing and smell, may be sharper. And these highly developed
senses likely lead them to be keen observers of their surroundings.

So aithough totally color-blind people lack the ability to see color as we know it, their world can still be “colorful” in its
own special way.

83. Total color blindness refers to the condition of not being able to see

(A) any colors (B) bright colors

(C) the difference between certain colors (D) colors other than black, white, and gray
84. What would be a challenge for totally color-blind people?

(A) Cooking a steak. (B) Buying sunglasses. (C) Walking at night. (D)Wearing contact lenses.
85. What is paragraph 3 mainly about?

(A) What causes total color blindness? (B) How total color blindness affects people’s lives.

(C) Current treatments for total color blindness. (D) The positive side of total color blindness.

86. What might be TRUE about totally color-blind people?
(A) They get used to new environments quite easily.(B) They are good at detecting environmental changes.
(C) They memorize things less quickly than others. (D) They have extremely poor night vision.
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